maxax, = #(7)—0 9 ,[a,b] YW ORI NPYN T HONn :AnD 1
92P) DNDN YNVPVN DY NITHIN 9D

jf(x)dx c 11m Zf (e, )ax, = llm ch (e )ax, = 11m Zcf(ak)axk =j.cf(x)dx

SPNANY nm) DMon '7‘11\33’N ‘:\v TN %97 112) (mm bzmvm) PWRIN 12900
([a.6]-2 2>27D0PN ()

91230 NNON Y -NWN VNN
.DNDN TNOVIN DY NITIN PITL I — PNINND 12NN

WM [a,5]-2 PDANOIN ¢f 1P

JPDY2HVIN 122 MON N2 THINVINND PIPNN .2
SNOIRN 1291 YOPI 1377 299 TPPANVOVPN 1IN [—a,a]-2N¥T f(x) :hndn 3

NN NI ON [—a,a] YOPN DY 1IN NPIZN W 17>N12 N5 DN j f(x)dx

—a

9N NPIZN N2 122 .APZNN VW YOP NN D22, MNMPIN

[0,a] YOPNOW T :0<x, <x,<..<x,=a

SV T, —a=—x, <—X, , <—X,, <..<-x, <0 NPYN INW NNV @, €[x,,x, ]
~a, €[—x,,—x,_,] -V [-a,0] yopn

DNOPN DV NN 28D 1990 [—a,a] YV ORI NN NN T'=T, UT, NPYNN
1222 OMoN

j;f(x)aix— im S (f (a,)ax, + f (-e; )ax,) = lim 3 (f (a,)ax, = f(a,)ax,)=0

u(T)—0 p (T }—>()k

PEPNAN DWW NPT IND NYHRNYN PNINKRD 1ayNa
Yrun

3

J’(x2 —x—2)dx N .4

1
129112 722 DOPR N [1,3] YOPa NN f(x)=x" —x—2 TNPNN 1IN
DMLPNN NVOND 9N YOPN DY NN 53 IN122 1N

3-1 2
NN I NP NTIPIIND VYOVP NN D02 L ax="—==-Y T2 MY NPIYN N
n n

2k
2apN @, =1+— IM9d ,a,

fio e (1] (122 Lo 52 (2]
_hm( Zk ikz Zl}—h (4n(n+1) En(n+l)(2n+l)_inJ=i+g_4=g

n e pay nia n—o| p 2 n 6 2 6 3




j\/}dx A

PINS
4k’

PN MNP —,k=0,1..,n

n

4> 4(k-1)
n2 B 1’12

[x,,x, ] YOP PN TN ax, =

4k’
977 DIV HY NWONT TPXPND DMV [x,,,x, | YOP DN DY O N8P @, =—-

2

N—dx_hmz 4K’ [418 (k—l)z]_l izk(%_i]

n—x0 n n%mkl n n2 n2
(16K SkJ [16 2 J
=lim —— |=1lim kK—-——>k
fl—)m-g[ n3 n H—»x0 n ; n ;
o (16n(n+1)(2n+1 nin+l1 16-2 1
=lim —? (7+1)( )—% (n+1) _16 _()=_6
n=o| p 6 n 2 6 3
N ‘]’)’Ub T )
5-2 3
Ax = =—
n n
3k k 9k* 12k 3 3k
Py )= 8(7-1»—) [74—‘—) —+——+12 .\'k=2+k-—=2+’—
n n n- n n n
2 -. ) 2 -~ - -
£(x,)Ax = [_9,{ 12k 12]( }_ _'H: L 36k 36
n- n n n n- n
! i 27k* 36k 36 27 & 36 & 36 <
v ) Ax = _ + = =5 —> k+ —>1
kzz;‘f(\k) ! kzz;‘[ n’ n- n] n’ ; n- ; n ;‘
= —Z—TM + E-”(”H) + E-n = —2{l+—]{2+—J+18[1+1}+36
n 6 n- 2 n 2 n n n

I(Sx_\--")dx = 1%[—%{1+%][2+£] + 18[1 }l?]+ ?6} = —%(1)(2)4. 18(1) + 36 = 45



|
-x, (1 =0,1,...,n) WO MMPI YT 9y [a,b] YOP S¥ NV NN — P 0N -

S DTN YSINN TPYVOPN MMPD IND i =0,1--n—1 [x,x.,] yop nnoaa
¢, = \Jx,x,,,  IMYI yopn Msp

(0<x <c <x,, ((=0,1,.,72—1) DPNR NPN PI NT 5239 33 sy )

VCfle)= ! =ﬁ 93p) f(x):)%2 NPNON MITHN 295

: 12N DYNNNN I D100

i=0 i=0 X; X4 =0 XXy =0\ X; Xin
1 | 1 1 1 1 1 1 1 1
sl ———| H|——— | 4| —=— | e + -—— | ——— +
x[) xl i=0 xl x2 i=1 x?. xS i=2 xn—?. xn—l i=n—2 JE.u—l xn i=n—1
Lot 11
x, x, a b

E _lims, - lim(l— %J LI R

X n—yan n—=| g a b

B —
M|



